r“ M Hh122 2020 $$%~%M%C‘P%ﬁﬂ
; FRvE A C)\SERBEBER PRGN X A
—. ﬁﬂ'uxﬁ——zﬁ (ﬂkﬂ%‘ 10 NJ\;@, SN 34 A 36%\ *Exx»ﬂﬂbﬁmm-A;imm,_
.Rﬁ—Aﬂmmm>W

T me:| I ey 8 | 4| 5 | 6 | 7 [ 8[| 10

L,

#x| 4 | ¢ | D B | B ¢ “|# Dbl el e

= R GREE 6 NE, ENE 3, T 184D

ge | 'n | 12 N Rl e 15 | 16
CER | Ka6 | BCE=CB 108 450 | 0O
SR BRsB=/E | . ’

Uil %12 ER%"%’&H-A%#EDT 16 E—Aﬂﬁﬁ 1 ﬁ‘, %5—'/\?11 143.

'_\mu&~x<¢x@ﬁ9Am@,xmﬁuﬁﬂgian$ﬁ%,ﬁ%aﬁﬁﬁg
2 S e Wi .

17 GO
FEA4BC 'SAADC g
- AB=AD
’BC‘DC
' QAADC (SSS) 75}
. 2 Sl R G -l ‘!
18. (7 53') fﬁ: !H]E, AAxBnC:ED%Fﬁﬂ? ""“‘45}_ \ ;L ’
A (FL 1), B (4,2), G (<3,4) T4y e A N
e B AE 1S, ﬂlﬁ,ﬁA&hﬁlﬁ BN NL
A - § : l "2} t ¥
19 TH) MR BEABURMGAA . T4
BRI, 180° + (n-2) =360° X3 B4y
718, "=.8 “  mewees 65}'
SN BATMGAGI e 74
90. (74 f8: HEBEK dom, NRHK S 20-2X4=120m.
4412, AR B AT IANMMKTE =4
S ABEEI RREEAE N dom BES/AT oo 34
ERIHF dem, DIUEK:%J-;-X (20-4) =8cm
| 44858 EEEREIAN dom RSB e 6 %
L, TUABREILR dom QISE=FT. T 4
1

'SDDDDDDD



21. (84} iE:
- *"AB//DE

< MAF-CF=DC-CF

NACSDF  weeeed 44
FENABC 'ﬁADEF“P

AB=DE

 LA=4D .

AC=DF

5 AABCR ADEF (SAS) ------ 5iak
" LACB=ZDFE =, ‘werefgp
X't LFCB=180° -Z4CB
 /CFE-180° ~/DFE - -
. LFCB=LCFE = iy g

;'.BC'//EF g A e e e s

22. (8 ) %

% mEE# DE Eu;wqu...:.f.li M,E s 5}, % v 15})]},5 e

DE@ESI%\BC o
..BE‘CE‘3cm, BD=CD -+ 5} g
X CasspABBDADAB#DC 4D~ AB+AC-13cm

SR CAABC—AB+AC+BC—I3+3+3—I.9 cm _cee -8 5}

93, (8 4) fB - iR
(1) A4 4‘FAH_LBC—'P;5, H
ADAEAH-LBC i
~DH=EH . »..,.1,{,}_—'_“ St g
"* AB=AC, AH | BC
SBHSCH - = 94y 3
~BH-DH=CH-EH . “+--34% =
<+BD=CE T aesses 44
(2) ¥ £DAE=x" , M £B=2x" .
"*BD=AD '
. ZBAD=/ B=2x°
X' AB=AC
N LC=LB2%"
X'’ AD=AE, BD=<CE,
" AE=CE
o LCAE=/C=2x°
s LBAC= £ BAD+ / DAE+ L CAE=5x" *+++6 7

ZBAC+/B+£C=180°

EIIEI

*f;-‘:-'i' 0



..QFZO " %
S ZBACS100° e 8 4

24, (1049

N (D

DR BCHyHE

~BD=CD

“'BELAB, DFl4aC =~ . -
' LAEB=ZBDA=90° = sieeel 4y
TERIABDE SRINCDF
BE=CF 1

BD=CD

W.DE=DF e 4ﬁ.

(2) EHALP -

2 ABDE"’ACDF
.{B—ZC Sln e
Azwcja%%_ﬂﬁfﬁ _
XD BC BRI st
AD_LBC Satiavs ._."..‘....Tﬁ} i

S SAABP+SAACP-SAABD+SAACD e

lAB PM+ AC PN—lAB DE+ AC DF
2 2. 2 2
PM+PN-DE+DF—2DE o)

.. DE =

AB .. AB .5y
..PM+PN—2—54' L Joﬁk

.*Rt\BDEL2 RIACDF. (HL) | 3f}

DBAMICWATAR osh

B %i{ﬂﬁ.P%E‘ﬁﬁﬁiﬁﬁﬁ (!IIJD)i, B R, C}i), PM+PNH’J{§{§35}

DDDDD 0



25. (10 5}) fi#- (1) cﬁﬂﬁ:léwn (2, 6)
(2) WA, oy F{E FD Lx 3 F K D, L‘t}f\EﬂEFHJ_FD?ﬁH &
"* ZFDG=90° B
, ..42+43—90°
s LHFG=90°
S L1+ L2F s DS
NLIELY L bR
#EAGDF 5 AFEH
L3=L1 e s
"ZGDF=ZFEH o S
AGFD"’ AFEH (AAS) ------ AN s T
| NFD=HE=4‘m, FEDG=4 . S S
' —m—EF+FD+4+n+4"‘ S i
Somn=-8 10 53‘

EI'IEI
DDDDD 00



